— P768 (F1&K)

M20DS~HE1BETIE

B MXPitch D d E B c s m WEYEM 1~1937 | MBYEM 1~193
Type M i =] [ BNG |BNGC|BNGS| BNR |BNRC|BNRS

3 M3x05 | M3x035 | . [ 4 [ o 400 | 500 | 600 | 390 | 500 | 600

4 M4X0.7 | M4X0.5 : 5 55 | 3 M3 390 | 490 | 590 | 380 | 490 [ 590

5 M5%0.8 | M5x05 [135] 9 [ 11 : 05 | (4 ket 360 | 450 | 540 | 350 | 450 | 540

6 M6X1.0 | M6X0.75 | 145 ] 10 | 12 360 | 450 | 540 | 350 | 450 | 540

8 8 | m8x1.25 | mM8x1.0 | 17 [ 13 [ 14 [ 65 | 4 340 | 430 | 510 | 330 ] 430 [ 510
BNG 10 | M10x1.5 | M10x1.0 | 20 [ 16 | 17 | 5 340 | 430 | 510| 330 430 | 510
BNGC 12 [ M12x1.75 | M12x1.0 | 22 | 17 [ 19 370 | 470 | 560 | 360 | 470 [ 560
BNGS 15 — M15X1.0 ] M4 — — — 400 | 520 | 620
e 16 | M16%2.0 — 25 | 21 | 22 | 10 | 6 (tohe-2ff%)| 410 | 520 | 620 | — = =
BNR 17 — M17X1.0 — — — 420 | 530 | 630
BNRC 20 mggxgg M20x1.0 | 35 | 26 | 30 | 13 | 8 . 43g 528 ggg 420 | 540 | 650
24 X3, — 5 55i 7 — — —

BNRS 25 — M2exis | 0| B | B 510 (-2 — = = 550 | 750 | 840
30 | mM30x35 | M30x1.5 | o | 39 [ 40 [ o | | , 640 | 850 | 960 | 640 | 850 | 960

35 M35%1.5 43 | 45 M6 — — — 730 | 980 | 1,100

40 — M40x15 | 53 | 48 | 49 | . | .o (hE-2ftE) | — = — [1,080 | 1,280 | 1,440

50 M50x1.5 | 66 | 61 | 63 — — — [1,450 [ 1,840 [ 2,060

FTIER> -




